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Us=se substitution to solve each system.

1) -9%-Sy-9z=-72
Ex-2%+Z =68
Sx -9y -7 = 65

31 -8x-8y-8z=-64
Bx - Ty + 52 = 153
S By 4+ 2z =91

2 S +3y+3z =0
- T7H-By- 6z =-10
-Bx + 3y + 72 =-152

Tl -7 - -Fz=-1681
-8 + 2y +B7 = 38
Ix-Ty+TZ=-9

9 ¥ +w+z =230
H+y-22=-T6
3+ 3w+ =3

111 T« + 7w+ 72 = B3
- TH - 4y - TZ = =33
SOM 4+ Ty o80T =T

2)

4)

)

3)

107

12}

System of 3 Equations

SH + Sy + 52 =-25
O - Oy -0 =45
-¥ + Sy + 57 =-37

S + 5y + 57 = -50
-BX - 2y +4zr = 36
¥+ 8y + 8Bz = -22

2+ Dy + 27 =14
dx - Oy + 5Z = 19
-Om + 2y + 47 =34

Ex + By + B =-78
-9% - By - 32 = 96
-4dx + 6y + 82 =-10

- 8% - By - B2 = -06
6x + Gy - Oz = 86
B - By - 57 = 45

- 8% -8y -8z =104
Te-dyw +J2 =18
-®-8y-z2=78B
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